MOE'S

home collection

ASSEMBLY INSTRUCTIONS.

DANIEL CHAIR SAND

RN-1123-40

i Rl

THANK YOU FOR YOUR PURCHASE!




PARTS AND HARDWARE.

=

D Sofa=1pe @ Front Feet =2pcs

A\ #

3 Back Feet=2pcs @ Gold Bolts(M8*50)=2pcs

S &

(3 Washers=2pcs ©) Spring Washers(M8)=2pes

@ Allen Key(M35)=1Ipc |® Screws(m8*50)=2pcs|

) o

(@) Spring Washers(M6)=8pcs | (D Gold Bolts(M6*25)=8pes

(1D Allen Key(M4)=1pc

NOTES.

Thank you for purchasing this quality product!
Be sure to check all packing material careful
for small part that may have come loose
inside the carton during shipping.

CAUTION:The items heavy,assembly
should be performed by two people.

STEP 1.

Legs and hardware are

in the bottom pocket

The plastic stopper
is adjustable.




